=R E=

Tl




gy==

BE e mwmes

—. FES

ARERELFET, FY8NLEA, HREAE K ATHER
AR 22 TG PR R SR

. B

A B SE AR




1k
R
N
g
=

i
gl
ot
TR
=

IRRETEEIA
EX. RAEEGR

D%

| EEATIRAEE |

MEMS TR
BRI

| BNESRAEE

R R

| EERA

j@ﬁ#@%&ﬁ

| AEH
NGO




|




BE & momeems

[R1iR ALY HFEREX

B AR TS BRI T — N R, UHHE
EAKIREUN I L 5FiEsh, BNl EFEER X

1. #5524l ZRA5 i B A 2

2. SR BT AN A A AR B 0 B B

3. P AL Al PR RS ) B E iRk AT




BE = muwasna

(AR S2) N5 BRI A
1. J& T Al B dif w4 v 5

2. BT L HERE P e

3. B E A AR BB K




BE = muwasna
[miR m3) |EMI R

AERE [ a% e
ey | L TP T EUE 157 DL R O B R
o | es |2 FEAENS. NIGRIT. 7. B iF
s Em gy | B %ﬁgﬁﬂm RICHOR . 7715 SEIE ES
X —— —
K |1, KR T 126 DL AR
B |2 EEQBEEERS. TRES. /AKBRES
Xt | PRI B A AR Al Y, TR & TR 3
e o |HEE B EERT. TR R A R
IR EENHEE — — — ——
3 i 75 A 34 XA T R TR T S B AN, ME T AT
| | 21 T B SRR SR AT AR A PR B RO KAl
PO i S R
ey | LK | ELEBB AR GBS A 2 E RIS
D s [T | M7, BN SRR BT
Eironiez | SRR RER SRR TRE. RS
TN s | ER AT, DEREGE R IR R AR B




mmd B

=23
.EmA

e
i




N

BE = v maensrwe

CRAR1) #E0E IS mERAL T

1. B iR I H W45 ol 47 M ) 2 M ek &
FHE . NSRRI BSORE SR febs, 352 LA &0
BN GO AT nAT VRO EY

2. e, RIEATHKRAR P SIHEBRRRFEHE XK
IR 4 AR I 230 3=

. FEMERBINERABESHNEHREBEZE.




yy==!

B & mensnmes

—. LTI RIS E A

1. 2 v BB <g i R I H 2w B g 2 T H B v Sepk s vt s H I
R RAERNRShE, FEANSREE

2. W

(1) FEER~#5, BIEEMETY). P& SFHEA, s
& 1B, BERRARE

(2) Imahver=4st, BPETHrgE Ew-mgmnrgianse

(3) HAIT oA, SEER - REARNHAMEH, WEES
F. BR LRSI 2%

(4) JA EE T r=HZRIIA, R AIHESMA, 5T EE 5
Fe B R R




AL

-

7

u

— AR E IV, sh e R

HOTVEI R

(BTED =AFER

i

X

<
X

BB

—y

HLERD

£ EFRISN 5

= 5
J

AFEPH) BT T - A F sl 7

A

& H

A B B

e JH A0



N
N

pots
= B

BE v mmrs
[514-11 BAMPADVE A =260 H ,  TH 5= 5 19 B
st f HEUN30 70, ish i & U815 70 TR
F2F BN B e d FAUN40 Ji 7o, s 1o 7 #0820 3 7T .
MRIE EIRTRL, A EIZIUE SRR T
=5 1 s e 7 A #1=30-15=15 (Ji75)
KB B SR E E=15-0=15 (J370)
1%*”7ﬁ%ﬁnduﬁ E FH%1=40-20=20 ( F71)
=20-15=5 (/ioT)
i1=15+5=20 (Ji7t) -

W
.J
é
S

Eb K>
§E
S
%



N
I

il

yy==!

N

[

. Hom e
. aElileitg
1. 5 JHRFRIUE = 200 H 2245 1 1A] B
2. £E Ml eNERIUONFI e E (NP , FTie
MAEBREREHHE. HiHEAAN:
225 W S I = WA B B AP 15 5t
=3 AE T IH 22 AT I A
= (HEWAN-MIRA) X (-FrERE ) +HTIHZEE

FTELRSAS X BT A B 2



BE = mansnwnym

[4-2] BRI REELG1%&, &I E N3
o, A ANGE, CLEZEHRITIH, WIRTEHRAE, #H
GRS BES T REEWA3S T, MBI AIS T, &
i \V3E F I TS BLRL R 25%, HEIZIE L B 13 &.

PrIH%i=35/5=7 (7o) ;

FERT A 1E=38-15-7=16 (JITC) ;

Fr{88i=16X25%=4 ( JiJt)

FHIE=16-4=12 (JiJm) ;

ZE &R R E=38-15-4=19 (Jizt) .




yy==!

BE v munrnige
=. A5 I
1. 255 B I & i
2. Bk
(1) [El5E FEr= 22 il N A2 98 R 5= H & Bk R
F) 5 0 2 BB (E SO N T B 5 B 2 i 11 43 0
(2) [E %€ Bt = AR DT 453 amd X B i it B 52
[ 5 B 7= A A a0 I L B YR = (R (E 22
PHFiliN) X PR BB
] 52 B 7 R 5 =T R 537 SR (B 4% R AR e T3 1Y
RitHrH




BE & e

Qi Ok E- B IR >0, WERERE T4
LR 2, AT CAHERE, WD BLERH, BinEl & E

@uWFE Km M E-ZMERAN) <0, NIERESZI T4
BRI ss, NAZgiet, BmmMEeRE, WAOREFnE

(3) BFBHE EHIE

PERE A [ € 5 P BBk R, BRIE & Fasd R,
A 510 B AR A BT A, NSO R, AT K R A
b2 24T, BieRe B R IEAKTF, THFHEXHNEIZE
GEIH 45 R/ 15 2 B



BE = mansnwnym
[ %14-3] FA2X 24812 A31H LA20000ciri& b B1 4
WEBE &, Z&k&T2X165E12 A LA80000 mMA& N, FHT 4
WS RIENAE L, TRl B 9 104E, TR R NF .
PR 2L R IH (B SEUEIUEMED o HalkiE A
BT8R R 3 25%, AEEHAMMARCHE I, THHE 2% X4 1
Rl b= AL 8
7 IH £1=80000/10=8000 (JT.)
H Rif I T £7E.=80000-8000 X 8=16000 (JT.)
25508 24 B B 4 9 & B 2 Mi=20000-  (20000-16000)
X 25%=19000 (JT) -




BE = v maensrwe
[ « 2019 ) FARIHRIRE —WE, TWEK—1
Y45 7 o 8%, T E R 65, Ptk {E N5 71 7T,
KHFERF BRI IH . AR & TR 8 A\ K
HEWA3ST T, TIEA12 57, Rk AT R 2 825
%, MiZHBELERBERSFRERL ( ) Hit.
A. 24.0
B.21.5
C. 16. 0
D.13.5



=
N
g
=



N
il
=

i

Bl & menr
[ kR » 20191 2 RHUW K — G W {E 4073 o I %
&, FHHEAERNGE, FAFERTGERINIA, Fitd
SRAEKT . S84 TR A A 7 SEBLRY B ON5075 78, AR
R A225 76 & PR BB Ja25%, (B BA% 18
HAR BT, SHTIRT S RERE 3, Wisg &4 E
WFEIEEREN () T,
A. 28 B. 115 C. 20 D. 23

2z D

M. #7IH=40/5=8 CHL) , ZX&LEEHEBENLF
ME= (50-22) X (1-25%) +8X25%=23 (L) -



